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7 PHERE

(MTI7U7-BRZ-BERES (T9—8)

(ER 245 %)
3 1 # £ 2 #
#w B E B PRI
, WO B OE N , R REH | wiEEER
RREH 213 | 20 | Eam R REH | wiEEEy
BN 2,139 1,982 1,942 1,949 2,208 1,849 2,300 1,975
ERmxEm 583 579 551 526 587 546 603 469
EEH 956 910 895 924 997 841 1,009 880
3R 45 ET 120 88 82 84 122 60 74 64
= hnET 51 49 47 40 48 42 50 44
JI1iDET 80 70 79 86 90 73 120 112
£ RET 22 18 23 22 25 23 34 32
J\EEET 7 55 56 65 94 58 126 121
=PIy 64 45 50 49 71 52 87 74
®EJIF 20 14 15 12 20 15 23 23
151 E BT 172 154 144 141 154 139 174 156
(3) BRI % (T9—10)
(ER24%5EE)
L . 5 2 #
7 B ¥ B BERE
MEEH| F1E | F2E | SNFEH srEan| dRER| surEEy
TR 5,069 3,299 3,422 5,634 4,760 4554 2,616
EEMEH 1,520 891 888 1,264 968 1,904 636
EE:ni 2,533 1,804 1,861 2,663 2,556 1,419 1,255
IR AT 262 90 88 351 133 138 77
= hNE7 148 41 48 139 114 157 35
JI1 D E7 116 91 91 168 139 232 161
+5RET 67 37 34 49 43 39 25
J\EERT 95 75 117 315 266 133 102
=Py 125 76 76 180 153 185 102
EA=MIES) 43 41 55 65 62 98 15
1 S By 160 153 164 440 326 249 208
(M)A TNITH(T9—11)
(FR24EE)
6045 LI E 658 R D& 65 AL & it
MR E| mEEEy| MR ER| mrEag| IR ER| wirEay
TN 150 45| 51647 29,190 51,797| 29235
EEMEH 24 16| 10,535 6,683 10,559 6,699
e 78 12| 20,253 9,923 20,331 9,935
IR BT 10 4 1,708 998 1,718 1,002
= BT 7 2 1,383 943 1,390 945
JI1 i3 ET 6 1 2,914 1,830 2,920 1,831
+5RET 4 3 1,687 1,209 1,691 1,212
I\ EHET 9 1 3,966 2,567 3,975 2,568
=Py 7 1 3,573 2,082 3,580 2,083
EA=MIES) - - 971 432 971 432
{1 S EY 5 5 4,657 2,523 4,662 2,528
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